
Answer Sheet: Spelling

Choose the correct answer.

Q1 - He was accused of sexual ____.

  harassment

  harrasment

  harasment

  harrassment

Q2 - I can't see the point in trying to ____ dead languages.

  resurect

  resurrect

Q3 - There are two ____ pieces to the puzzle.

  seperate

  separate

Q4 - You need ____ coconut for the recipe.

  desicated

  desiccated

  dessiccated

  dessicated

Q5 - They were very ____ about her success.

  complementary

  complimentary
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Q6 - Their performance was ____.

  imaculate

  imacculate

  immaculate

  immacculate

Q7 - He tried to ____ enthusiasm in the workers.

  install

  instill

Q8 - ____ was low after they failed to get the contract.

  Moral

  Morale

Q9 - The smell ____ my appetite.

  wet

  whet

Q10 - An ____ nebula is a dense cloud of dust and gas.

  absorbtion

  absorption
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